Auhippo.com

S i i s CECV/18

¢ : udley
G600

12018
Gl Gumdlufwe
(Ll ugiiyg srb)
i@wdésiiu’ Harer Grrb : 3 wafl] _ - [Qurss wduiQuarser : 300

damésEnée Loaseuer SpssaT oflemrsmen SaamOTSL Lig&&6,LD

w&Aw Heyeyser

L @b dleams Agrel Caitey Asm_migeusn@ 15 HLOL_fis@nmés parasns GlatTemTLILIS T8 (615 (8 GULPBISLILIILD.

2. @ps dlemg Asnly 200 aamssamars Qaram@erargl. el walés Asm kiguyer @eclamsasneida
e eflanmésEnd aufloswns GLb AuppideTareur eramimgub @eLulld ggib eupmssrersar o draramaum
eranumgub sfluniggs Qsmerad. gGs@id Gopur® Qwmider, osoer LGS [BLOIL_rhi& (erpé @ e
SepsansrafiiurarfiLb Gsfeiss, sfurs oder CauQprmp ofems Qsral9oer Quims Csrerar
Cauan@id. Cairay Agm_radlw ey, aperpudL_med eflenms Qsr@LIy LIHHS ST LoTLTg).

3. e eilamésEnsE elamLwalléseb. erédar ellaméas@sb swiwrear HUQUamTHET QsTeaT_amay.

4. 2 BsEHoLW ufle ramaman @bsL LSSl auwg G aamaulsn SisHEsea Siewhgidrer @ s Bhisdr
(s Geuam(Bid. Cougy crenguib eflanms QFT@LIAED 6T(PSE 8l M5

5. dilenasemer Gl sTL erar, edlenL_SETET Qe 2 HIsEHEE DS SEMSTERTILTETFTED STLILIGHLD.

6. cmse@oLw damsQst@y aaramer (Question Booklet Number) eflenL_ggneflen @uawtLmbd LSESS D
SigHhsar sjewpgiarer @LsHo Fab sdag smaw Hn ewymLw ubgaen Cuearmelamd GIELES
1L Geaeanr@®. GCupsar_ecpop eloLssraie Brsd Glsss s is seubamd CareumrenemTis
<ifledlsamauiier GO Rarereury pLouigsas Gop@smerariiLi(ib.

7. geuGleurm eflemayid (A), B), (C) wimid (D) eren Breti, eSlenL_senans: Qanam(hereng,. Hruser sieneusaficr @G em sflwmer
eflen_enwi Caitay Qg eflenL_ggmatled Giigzis sm L Ceuaim@ib. eemmis@ Copul L sfiwumer eflenLsar g Caemellés;
QmLiLsnss smbleme pruser Bss slluneg) cren erangds smsSdiaGam oibs elaLmw eleLssmele @hssis
s Gauerm(Bid. eriiLigumlad em Gaatellésg ¢Gr em elamLmussrer CaibosHés CouampLd. o risEhamL L
Glorgs A HueTseT SruseT ellenssmefle @hidgids sm_Hib e elen_seflen cramanfléamasans QUIESS.

8.  dlaggnafle @aubeunm Caerefl crammanfip@id el @), @), (© wimib (D) e Bren(s el L kisT 2 6TaTer. g
CaarallsE oL wallss Shsar sdwer smad eloramu @Gr em alLsfd LI AL Bob 2bOg sH®L
Bipewwew ubs o Guameieamd @hésis smn L Caemm@b. eaQaunm Caaels@n o oL amugs
Caibbshss eloLssrafer Gilés Coam®u. @m Cadelsd gamie CupurL el welssme 2ibs el
SEUDTEENSS SHMHSLILIHLD. 2 HryewTons Briger aauens sfwrer ellen winss spHamed s Nemaumom

G516 st Ceuam(HLd.
ON NON®) |
9. PBrser elams GsreLdear apsl usss@sUD BisCaur oang HAPssGaur samirg. Csie Corsde Qbs
aileng AsrELlaCur sidwg elaLggramearCur Coiays salsms 6l Qauafuled ardssis QsdwssnL g, -
Coiay puhsilen Bruser o mse@romLw ool ssramas sarstafiiiurerfiLn QsrRss el Geuam(RLb.
cusllenng Qgn@Llenens Cgir bGeyL 6t HrhIGeT 2 hig(EHL 6 6T(NS5IF QFDeITLD. :
10.  @dluyser erpdll unriugH@ elamms AarELGar smLf LEssHDE ausssms e LGLTESE s AsTataTamD.
11.  eflemg QzrEude eflaremw GHludLCeur, @MU (& smLGeur salmg).
12.  yndle ageile QarBasiiulHerar GHlLULSET ST6r (Pl UTEISTELD.
13.  dlawawriiugmiser el wefldsmod 2 drer efamssafian Qurss aarafsmsau eloLssrafear LESD 2-6
<igH0san 2 flw sl L g eripdl Hiriiueyb. @sHAsar s(sons Bbg HLOL RS aupRIEILHL.
14.  Cupsear. sbleyemrsafier crangwmeug Bilame Caireurameamud wprQaB&EEL HLoulySmEsHEREE 2 aTers
CrpilG erer Sfleymss LG EDS.

L SEE BACKSIDE OF THIS BOOKLET FOR ENGLISH VERSION OF INSTRUCTIONS I

“— . : [Turn over

Auhippo.com



Auhippo.com




Auhippo.com
5 As per IS800-2007, the buckling class for hot-rolled tubular sections is

Ma : B) b

© ¢ (D) d

©).0& 800-2007 Lig Qeutiu 2 HL{H Gl ey eukisafler Gpeflga eu@liy -

4) a B) b
© c D) d
&2 The water cement ratio is expressed by

(A) based on volume of materials
w based on weight of materials
(C) based on density of materials

(D) based on percentage of materials used

B HQwerr e9lsb ereucumm GerdeliLBEng)?

A)  Qummsafler sar Djareneuls AUTMISE

B) Qummlsafer eranLenuwis QuUImSS)

©) Qummsafen é{L.ITg;QGG)UJU Qurrgj;_r,g,j

D) e uCurdssiiu@n Qurm seaflear sseissms Gurrgjg,g,g

3. The most commonly used admixture which increase the workability of concrete is called as
\M Plasticizers (B) Retarders

(C)  Accelerators : (D) Air entraining agents

spsrarea CeumeliL@gamwau HsMss LweTuD eupssorar Camlys Snmal ereeum)

SDP&EILHEDS?
A) OpfPursdlser B) Hmulser
©) gfigwrédser & D) srHm BWe| Eme seT
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4. Increased height of building or room give better ventilation due to
(A)  Cross ventilation
(B) Wind effect

" Stack effect

(D) Combined effect

R DADD SADOF| HL gL 1D 2 WiFd SFlsranmed e sTHCHT L LD Ha_&Hng). arganmen?
A  Enss stmCnmLib

B)  srhm elenerey

©) <Sip&E enarey

D) emudamarms elamaray

5. Which of the following material offer great resistance to cracking or disintegration when
subjected to fire?
(A)  Glass W Asbestos cement
(C)  Aluminium (D) Steel

Wermed Geugliy deg HamseynbCung SimesEHEE SDESETL oubhmieT s AUImET SIS
e &l Seyml 8 ESE- S o bS ®

erdlimienu Qar(Hadng?
(A)  sawenmg B) sapmT e
©€) siguflafwibd D) e
6. In an auditorium if the reverberation time works out to a value greater than 5 second is
considered as
(A) very good (B) good
W very bad (D) bad

oy afAprellly Cppb 5 CQesan(®éE Cuors @mbsme Db STEEEDS erenan Geuem)

SIEMPLILIGI?
A)  Hs pery B) pemy
(C) 8& Gumrswb : (D) Cuwomrsb
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Consider the following statements. Which of these are correct?
High water to cement ratio in concrete result in
1 Stronger mix
Better workable mix

2
7 Weak mix
4

. Less bleeding : '
(A) 1and?2 M 2 and 3
(C) 3and4 (D) 1land4

Geimau(mHid FadHmEEmeT H[HEIS. SeuDMIET erg) Fl?
ansreyuier oifls Bréudl iy eNfsb sryemrons
1. 2 mflwimer swaneu HeanL_&Sng,
Smpe Couamaui(Hsenanto QamearTL soaeu HanL&Hna)

2
3. 2 mid Gemeurar el HanL &g
4

@ameurer BriGLITESE
A) 1 wpmb 2 (B) 2 womywd 3
€) 3 wpmb4 D) 1 wppy 4

The role of super plasticizer in a cement paste is to
(A) disperse the particles
(B) disperse the particles and to remove air bubbles
«#®  disperse the particles, remove air bubbles and to retard setting
(D) retard setting

@@ Sy umauied 255 ApAPwrsdufer Couama

A)  gsasmer GMALLG

B) gsdsmar UALLG WHMID sTHN Gilpsamer QeuaflCGubmeug

(©) gseaaamer GMNLLG, sTHMH GUODSmeT Qméﬂ@mgbgmg LHNILD @MGSMe STHILIF
D) Qoes@o srodiug '
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9. Consider the following stages in the manufacturing of bricks
1. - Weathering
2. Moulding
3. ~ Tempering

The correct sequence of these stages in the manufacturing of bricks

1,3, 2 ' B 1,23
© 231 D) 3,21
Qaruga gwrflinded Gereumb Hleavasamar &mgs.
L SHevgay '
2. QUTTSSE
3. Wwn&EGCEHME
Qerigd gwrflide erg eflwrer cuflenss Syoin?
(A 1,32 B 1,23
© 231 D) 3,21

10.  What is the percentage of fine aggregate of fineness modulus 2.6 to be combined with coarse
aggregate of fineness modulus 6.8 for obtaining combined aggregate of fineness
modulus 5.4?

A  30% B) 40%
50% D) 60%
pOoEdmans swdls spsafar pammw Garsd 5.4 s QHEs, D@ G 6.8 Gamar
s0&Es D8 EpLen Garéa Couaima i BiarTanio Geamab 2.6 Qaream weamedlar sgeisid GTeHTaH 2
A 30% (B) 40%
(C) 50% (D) 60%.

"11.  Floor Area Index (FAI) is
W Covered area of all floors 5

Covered area of ground floor 5

Auhippo.com

100 5. 100
Plot area ®) Plot area
©) Plot area x100 (D) Plot area « 100
Covered area of ground floor covered area of all floors
gemb - urLiy GO QLer eramiui(Deug) eremen?
SIDTEG| S6ThIG6T 6T w Ul 5 aAls, ;
(A) 58 5 Py - x100 (B) gsmvggmg,é,lm eLpig I LIy e
Werm ugliy Werm Liytiy i
Germ Lty .. Ly x 100
©) x 100 (D) . e .
R — SimanH) Serrisafen epigw LFLIY
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12.  Agonic line is the
(A) line connecting same declination
w line connecting zero declination
(C)  line connecting max and min declination

(D) line connecting zero dip

Carenrid 2 awr_m&sm Cam(D cTemLig) eTemer?

A) @Crafleveu @anamrs@b Cam(h

B) & sflemeu Genaré@d Cam(H

(©) Quemw wHmd Amo Fhame @enena@WnCSHT(H
D) s pusms Qamearnsa@b Car®

13.  Which one is not the fundamental line of a theodolite ?
(A) Horizontal axis ‘ B) Line of sight
(C)  Vertical axis w Axis of altitude bubble

HCwrenL_ema iged 678 g LiLienL Camh Sjeven?
(A) devLiol L &5 B) urreneus Camh)

(C) QenEss s D) Esgwr GO &

14.  Adjustment of focussing screw of a theodolite enables getting

M clear image of objects

(B) clear image of cross-hairs
(C) clear image of diaphragm

(D) clear vision of stadia lines

@ HCwr_ama iy er Geilw HmEGsmer &fl Qelioug) ersHans?
A) Qummefler Qgafleurer sr _Sssrs

B) EnsG wyulear dgaflcurear sr _fssTs

©) Qaepulen anﬂeu mes STL_S&sns

D) wCriguwm (stadia) Gampsaflen Qgefleurer LimTaneu&ETS
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15. Refraction error is
(A) % of curvature error (B) é of curvature error
\M —;— of curvature error D) i of curvature error
gaflelload Yenw erarLig
A) % (euemenGam(H Genp) - B) % (Q.IGG)GTTGHSITL@lI_(ﬂGU)l‘Q)
(©) % (cuenerGam_(H 1GenLp) (D) i (cuamerCam_(H 9anLp)
16. The combined correction for a distance of 3 km is approximately .
(A 03m ‘ (B) 0.2m

(C) 0.5m W 06m

3 8IS Agrenaellen Camymuinmen @mmeanhs H(HSS0

(A 0.3 B) 0.2.8
(C) 0.5 (D) 0.6.8
17. In trigonometrical levelling reciprocal observation eliminates
(A) Instrumental error ' M Refraction error
(C)  Gross error (D) Compensating error

wp&Cament L br&&0, samadp 2 HnCHTESM crans gaﬂﬁéﬁbg?
A)  smel Genp (B) eflovasd Genp
©C) @ ®0wrss Gy D) @uuSi@ Geny

18. Satellite station is related with :
Control survey (B) Mining survey

(C) Topographical survey L (D) levelling

QewpensGarer Flenauwib ereeayL e QsmiienLuwig)?

A) sLEUuTl® etemeuulwicd B) &rms ereneuufwicd
©€) Css searemauuiwied (D) wlLwrssa
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20.

21.
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The variation of BM in the portion of a beam carrying uniformly varying load is

(A) Constant (B) Linear

(C)  Parabola @ Cubic parabola
&y YD LEn Qarar_ el LSl euaner F(mHLIL|enLD 6TLILIG OTMID?

(A)  wmHed B) CpiCsmms

(C) upeuemeTWIDTS D) ser LFeumETWILOTS

The relationship between maximum bending stress (o) offered by a section, moment of
resistance (M) and section modulus (Z) is given by

@a M=Z (B) M=£
\Z o
— A — 1

& M-02 ® M=—

Quep  euemer smsey (o), SHmuyew edity (M) womgd Gl Gawsbd (Z)
g HweupmsSenL Cuwerer Qgm -

.k _Z

@ M=Z ® M=-=
\

© M=0Z D M-—

c-Z

When a shaft is subjected to torsion, the relation between maximum shear stress (7),
modulus of rigidity (C) and angle of twist (8) is given by

(A) C6_R LA
T rike L R
Co -z C. z
i, e
where

L —length shaft
R'— Radius of shaft

R samgd WPnEE dewdu@bCurg Qumb BHGE smae) (7), daply Gamsd (C) YnéEs
Camenid () < dweupmisdlean Cuwyerer Qgmi

ca R Co r
D - e i
s R B) —=3
Cco r £
42V JARE D) e =t
© A © Lo R
L — semg e Hard
R — gaimg e 471D 6TEm S(HI|.
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22. The thermal stress is given by

(Ad) o LT \(ocTE

ET | 1
— ‘ (D)
= ExT

©)

where
FE — Elastic modulus
T — Temperature difference

o — Co-efficient of thermal expansion

Qeuliug senaeilen @SS b erevmen?

A)  «<LT B) «TE

ET 1
e T ® FaT
E - 58 gewsid

T - QeautiuBlenad GCoumuim(p
o« — Qeutiu effley wrdled

23. Sabine’s formula to calculate reverberation time is
0.15V 0.16V
A r'= =
) : v 4
1.6V . 1.5V
C) - t&—— D) t=—"r
(€) ) (D) P

wm rd@rmelliiy Crrsamns samsdHb gamuafien @SS erg)?

0.15V 0.16V
A = L=
(A) - (B) %
1.6V 1.5V
C t=—— D et o
©) 1 ( ) t 7
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25.

26.
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If T is the mean or average torque in non applied and N is the number of revolutions per
minute. Then power (P) transmitted by the shaft KW is

A) 27NT B) 2ZNT
600 750

W 27NT D) 2zNT

60000 45000

B-8-0 sgmefl ppméE T’ ey, Hllgdod swpiseiear aanaflisms ‘N <sab @mbsTeD,
&l.eum’iged gewrLmed QFEFSSILIHD % Hmed (P) eremen?

@A) 2aNT ®) 2aNT
600 750

©) 27zNT ‘ D) 2zNT

60000 45000

If E is the modulus of elasticity and I is the moment of inerfia, then the flexural rigidity or
flexural stiffness of the member is

A E/I M EI

© I/E (D) ErI*

BLA& @ewab E, Hlanew Hmuy Smer I erafled g 2 miiben cuenarento ellenmLiy eremen?
R ] B) EI
©) I/E (D) EI*

If E is the Young’s modulus and I is the moment of Interia. The maximum deflection of a
cantilever beam of length / carrying a concentrated load W at free end is

e o L

3EI 3EI
wi? wit
© 8EI ®) 8EI

BLA& gawsd E, flaww Hmuys Hner I eaafler Geunm apanarudedr W erenmm @ell senenwt Smbi@LD
Smg e Lgdlar Bard I QUL eflevsaLd eremen?

wi? wit

@ 3EI ® 3EI

wi? wi

© 8EI © 8EI
11 : CECV/18
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27. If E is Young’s modulus and I is moment of interia, then the expression EI

section for a beam is equal to

(A) load intensity at the section
shear force at the section

(C)  bending moment at the section

(D)  slope at the section

3

whigarsd E, Hlaww Hmuys Soer I cafledr e eﬁh'_l_g,‘é,]drﬂmuq_ﬁ)&rrm i

dx®
TEmend GHEE S ?
A)  <bs Qeuliger LiEh Qadelaner
B) <bs Qeuligen pMisEE Slang
©) <ibs Qeuliger cuaner SHmLiLjeno
D)  <ops Qeuliger smiiey
28.  In plastic analysis, the shape factor for a triangular section is
@) 15 W 234
© 17 D) 25
QpAL LELumiedd, e p&ECamamm s e &@@ &ryewtl gl ?
A 15 B) 2.34
) S | (D) 2.5
29.  The reaction locus for a two hinged parabolic arch is
M a horizontal line parallel to the span (B) a parabolic curve
(C) acycloid (D) a elliptical curve
@@ @r_eL Qaramg LiFeuemeTw edfldedlen erdlTellenar @elwib erg?
A) Blrsdne @amemwrer Hanol L Car® (B) ureuememu cuanereueny
(C)  aed (Cycloid) . D) wFureuaemu cuamareuamy
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30. If 1 is the length of the column, then the equivalent length of the column for one end fixed,

and other end free is
ym 21

A)
©) D)

B | o~

l
b
V2

em siefler Harb I, oigar @@ e Ho@UUTasTsea b, LD CaDH LPMETLTEE|D
QmpsTe grenflan swmen Berid ereinan?

@A I B) 2
l l
@) = @: =
J2 2
31. The plastic section modulus of a rectangular section of width 10 mm and depth 12 mm is
(A) 100 mm’ (B) 180 mm®
©) 240 mm® G 360 mm®

@ Qscuaus Qeuligen Db 10 S, oo 12 18l 8 erafled igen QRS Caul (H GemraLd

(A) 100 05’ (B) 180 95°
(C) 240 OIS D) 360 IS’
32 The influence line diagram for reaction at a support of a simply supported beam is

J a triangle with ordinale 1 at that support
B) a triangle with ordinale 1 at the other support

(C) arectangle with ordinale of 1

(D) arectangle with ordinale of %

@ craflgmmd eflL_Gdler m ST yarafluder 2_arer erfirefeanssmar LTHliLé Gam G uLLD
A) s smhE Yarelule @agwnd 1 Aarar. ap&Careamid

B) mﬁ)an@ gmh@ Yerafule @&guwd 1 dememr wp&Camar i

(C) @Esswrb 1 Qarar Gsaieusd :

D) EsswID % Qe Qaciaisd

€ 13 CECV/18
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33. Match the List I with List IT and select your correct answer using the codes given below :

(a)
(b)
(©

List I

(Name of the person

associated with the

methods)
G.N. Maney

Hardy cross

Euler

(d) Clapeyron
(a) (b)
o 1
B 1 2
© 1 2
D) 2 1

W s W s

List IT

(Method)
1z Moment distribution
& Slope deflection method
3. Theorem of three moments
4. Crippling load on column
(d)
3
4
3
4

uctgwe I g ulgwe IT 2 e QurBsgs

&Gy Gardasuuc L @huGamen LweLDESE :

(pemmujem Qem_iyenL_w

(a)
(b)
(c)
(d)

(A)
B)
©
@)

CECV/18

U igwe I

pLiTEET)
G.N. Gwefl
ammig. Syren
D UIGIT

& Cem Gy

W B W s

- @

uigwed IT

(aperm)

1. HmLieno LFeud upenn

sfley ellovgsupanm

GsHBILmL Cappid

gnenflen Ly LEs
(d)
3
4
3
4
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34. The three hinged arch shown in figure will have the Horizontal Thrust (H) of

A) 20kN
(B) 30kN
w 40 kN
(D) 50kN

UL QarHssiul L & sy uFeuameTgSlen LdseTL () DIAPESLD cTete?

(A) 20kN
(B) 30 kN
(C) 40kN
D) 50kN
« _ 15 ' CECV/18
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35. For the portal frame shown in figure, the shear equation is
p B C
4 m
4m 4 m
D
g
J Mps+Mup Mgy +P=0
4 4
® MectMe, p_g
4
© HMmtla.poo

D) —A/‘%@—+P=OA

UL gdled Qarhdsliul L gL ssHer bnis@ Fwerum( creme?

p B C
4 m
4m 4 m
D
ryr
(A) MBA+MAB+MCD+P=O
4 4
B) MBCZMCB+P=0
© MMZMw+p=o
(D) %+P=O
CECV/18 16
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36. What is the degree of Kinematic indeterminancy of the frame shown in figure? Neglect axial

deformation.

5 | @ i

o ue T ' W s

S uLsde QerpEsuulL  slLssHlar QG saTGHLTS satanufer SieTe} ETEET?  FH

2 (HTHNSMS &(HS CeuerrL LD '
A . 14 , | B) 12
© 10 | oDy B
37. While using three moments equation in the beam analysis, a fixed end of a continuous beam
is replaced by an addition span of ' ;
M zero length .« ¥ (B) zero moment of inertia
(C) infinite length j "~ (D) infinite moment of inertia

@m A Lgms wsHmLLow Coppsdlaniy pe] GewybGuTgl, @ Qgmirell_L_gdlen Qg iy
e ahs B Lsms Caigg uHdS® AewiuBapg?
A) & Herd ; - (B) & Heewdmly dner

(C) sawsHeLmaT Herd (D) sami QL EsT Blevaowod i Smer

€ 17 : CECV/18
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38.  The soil which has more plasﬁcity index is
(A) sand o ' - (B) silt

(O gfavel . w clay

9gls Genpanod &L QL e Qs meirL e

(A)  wewred (B) euant_é
©) . e ' D) seflwenr
39. The method which is more suitable for the determ'inatio'n of permeability of sandy soil is
M constant head method (B) wvariable head method
(C)  horizontal permeability test - (D) hydrometer method
LDGITED &6VThS LoewT a6t ‘2ar(R(Hey’ Sementanil Sl 2 geyld (pem
@A) wmor Srwss 2wy apep B)  wryb Brwpss e wy e

(C) Sl L caB(phey Camgenan ‘ (D) Srwowref wenp

40.  According to Boussineq’s equation, the stress intensity of soil at depth ‘Z and horlzontal
distance ‘r’ due to surface point load 1s given by

. e 3

M o Z2 27‘[ 3 . (B) . O-.Z =% 2

(C) Oz =—ZQ—2¢2%' (D) Oy :%——2” .
{1 + [Lj }
<

Guardlend’'ev swerum ey, Z - ppddHd r — Sl L gmsdd, @m ydraf U(@neuig.a9le
Geweu @b waraflar o|(Pss smsay eaTLS)

3 : 3
@ angi ey ks
(] 2l

£J. , z

3 =4 3

© o=y ® o, -2
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41.

42,

43.
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The gross bearing capacity of a footing is 450 kN/m?. If the fooﬁng 1s 1.5 m wide at a depth

of 1 m in claying soil with unit weight of 20 kN/m? then the net bearing capacity (in kN/m?)
will be

(A) 400 ' \{ 430

© 450 | M) 500

R gnam sasden Qurss sriugdper 450 kN/m® 20 kN/m® gres eren_ujerer seflwamanic,
1.5 m aa;eo(godrm.ssmL_é;a;nei)_ 1 m 9l ameussiu(BCurg Bla g,rrr.é@&ﬁ)ﬁ&r CTETLIZ) (kN/mz)
& apnl N | (B) 430 |

(C) 450 : . (D) 500

Compression index on a soil helps to determine
(A)  total time requ'sed for consolidation
(B) - time required for 50% consolidation

W total settlement of clay layer

(D)  pre-consolidation pressure of clay

R anafler ‘ipsss s QLa aarg @ams AU 2 saflng)
A) SwrssEEs Comeuwrar Qorss Corn

B)  50% SiprsasE Cameuwmar Criyid

(C)  saflwawr <iHsfler Qwrss siprisan

(D)  saeflwarenflen wper oiphige S|(PSSLD

The relationship equation of Void ratio (e), Specific gravity (G), Water content (w) and

Degree of saturation (S,)1is
A) S, =weG J ' By - 8,6 =we
©  Sw=eG i Se-wG

Heny e9dlsb (e), sw Hlevm (G), Brerey (w), Lo;f;g)JLb Blenm Gedley erey (S,) QeunmsHlean Cuiilimer
Qi swerUm(h eremg) ' :

A) S, =weG | B) S,G=we

C© Sw=eG : D) S,e=wG
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44. If S is the shear strength, C is cohesion and ¢is angle of internal friction, o is the normal

stress at failure, then coulomb’s equation for shear strength of the soil can be represented

M C=S-otang

S=C-octang
(C) C=S+o-tan¢
D) S=oc+Ctang

S- pm&E euedleno, C- L_(ﬂsmmuq ¢ -s2 gmie) Csmewrd HMILD a-&@a;@smveq 56| erafld,
LoGiTemTlGHT B0i@ eUGSlenLOGETE o)L &msvrurr@ GTETLIg).

A C=8S- o-tan¢
B) S=C-octang
© C=S+otang
(D) S=oc+Ctang

45. If H and V are initial height and volume of the soil specimen. AH and AV are corresponding
changes in the values of height and volume in a Triaxial Compression test. The area of
cross-section A at failure or during any stage of Triaxial compression test is given

V+AV
M A—HtAH

' V=AV
A= '
®) : H+AH
©) A=V+AV
: H+ AH
Vi — AV
D ‘A=

D) H-AH

H wompo V aeint.ig,l wewromdflufler. 2y ribu 2 Wb mg')gu.b'@a;rrdrmmm AH wHmibd AV eremLigy,
AP & 3i(p&s Cargamanie erhuBLD THDE&EET erefld @g&@@mp@ Ul ereorug) -

A) A_V+AV

H N

®B) Py Ve— AV
H+AH

©) A=V+AV

- : H+AH

D) A=V—AV

H —NH
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Average permeability (K ) for flow perpendicular to the bedding planes in a layered soil is

A COE I e
s n
By KH +K,H,+..+K,H,

H+H,+..+H,

where K, K,,...K,— are co-efficient of permeability of respective layer

H,, H,..H,— are thickness of respective layer.

et 24[H&EEDE CemiEsg Feaewuln syref sa®mey semenwo (K,) eranig

A) K2=K1+K2+"'+K"
: n
ok _KH +KH,+..+K,H,
3 H +H,+..+H,
| _Hy+H,%..+H,
T i
L=y +
K, K, K,
. Hy+H,+..+H,
(D) Kz i Kl KZ Kn
L2y +-2
H H, TUH,

K,, K,,..K, - aanLg <iQé@sailen ea®mey Gaman

H,, H,..H, crenug) o(H&@safan sigoe
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47.  Fully mechanized plants involving the processes of mechanical composting in India does not

include

(A)  Buhler process

W Bangalore process

(C)  Dano process

(D) Tollemache process

@pHwureder 2 erar WpHNID srefwrifowibrssiul L 2 NS kG Qb @omm@nu.n 2 GTETL_&&ME)
@) gor e |

B) QurusEnT oD
©)  LaCerm wpenm
(D)  QuLmellwé wperp

48.  The movement of water after entering into the ground is known as
(A) Infiltration (B) Penetr'ati_on
W Percolation (D) Permeation

wamgamys@erGar, Bi ea(medlls Ae@bCUTE A6 QubHLTEIS

A)  auys® _ - B Qnaesd
(C) sése (D) ea@mmeued

49.  The common chemical used in solution form to remove SO,gaseous pollutant is
(A)  Dolomite ke s Dimeibglaniline

(C)  Aluminium Oxide (D) Sodium Oxide

SO, wrsma B&s 2 sa|b Caugssmyae

-(A) CGLrmeenwl e, . (B) eQuderaflanaen

©)  sigublafuib ysamaev®H | (D) Cemgquib <y&amav(H
CECV/18 22 | €

Auhippo.com



50.

51.

52.

Auhippo.com

Which one of the pipe fittings has least frictional resistance in equivalent pipe lengths

in terms of the diameter of the pipe
(A)  Sharp elbow &, (B) T — connection
(C) Reﬂ_ux valve » W Sluice elbow

Qeueuems Gl Gevariumeic o Fmiey Grré]r;rafﬂm& G®DEUTE @)(HHELD
(A) anr'r,IE QUlgGULD ' B) T - Qeawriiyy

(C)  Hmly eurdey D) ey L — augeuid

Name the common indicator used in determining pH value that produced yellow as the final

colour when added to water samples

(A)  Phenol red = . (B) Cresol red

Tolyl red (D) Chlorophenol red
Bflen Hipwd wEpaems QHEELCUTE Sigan pH-g sram 2 gajb Himbd
(A)  Qermed éﬂ&}hq ; ' B) dersred Hsliy

©) QUi Asiiy ‘ D) ECamCrmIanmd Hsiiy

In an Activated Sludge process (ASP), the sludge v_olume Index of a good sludge ranges

between 4 ‘
(A) 10 to'50 ml/gm ~ @ 50 to 100 ml/gm

(C) 100 to 150 ml/gm (D) 150 to 200 ml/gm
ASP- ulé pever H&(H 2_6TaTL_&&LD GTeTLIg)

(A) 10 to 50 ml/gm : i ~(B) 50 to 100 ml/gm

(C) 100 to 150 ml/gm ‘ (D). 150 to 200 ml/gm
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53. Accordlng to IS 3306, the tolerance limits for 1ndustr1al effluents discharged into public
sewer should have effluent temperature not exceeding

@)
(©)

10°C ; (B) 25°C

30°C - : BRY" gt

[S:3306—6i Ly Agmfiberee siflesEhsE 2 Feul s Qauliuflame

GV
©)

i A (B) 25°C
30°C | (D) 45°C

54.  If the diameter of a reinforcement bar is “d”, the anchorage value U-type of look is

(A)
(©)

4d (B) 8d

12d S & 164

‘d AL ganguyerw‘ U’ eugen Qanédulen enantiiy eremug)

A) 4d  ®B) 8d
(C) . 12d (D) 16d
55: Pedastal columns are

w Very short columns with effective length less than three times least lateral dimension

(B)  Very long columns with effective length more than four times least lateral dimensions

(C)  Very short columns with effectlve length more than three times least lateral
dimension

(D) Very short columns with effective length more than the least lateral dimension

3lq SASETD HNEHT GTETLIG)

A)  eoppsuLs HoLwlL el apay wLkios ol G@paurear Lweain Sord Qe

- 0E6D @LanL_wimen gfiewr _

B) GonpsuLs oLl L ojeredler En@h@ wLEms ol lsorar Lweym Herd Qsmemr
2_WITLDITEIT GI1EHT }

©C) ©GopbsuLs oLl L ojereler @,pam_m OL_BIens a9l aﬁa;wrrm Lwenm Herid Qa;rrmn_

o WBlseLd @ LenL_wimer glewr

D) Gopisuls HeLwlL é{GﬂGb’)@JQSﬂL <flsorer uweam Hermbd QaramL Blseb GLenLwirer
SlTewr

CECV/18 24 4 “

Auhippo.com



Auhippo.com

56. In a singly reinforced beam if the failure strain of concrete in bending compression reaches
earlier than yield strain in steel, the beam section is called

(A)  balanced section
(B) critical section
(C)  under-reinforced section

over-reinforced section

@M LESD augiap k&dr Qsrar el LgHd, e.@é sbdser augiaiiply é]rﬂénu SiMLUSD S
panagraGel aumere| @n&ssHL Samstan suguaﬁlgpuq dfleru SiwLpsTd Db N L e
Qeul_QuLEH @eueurn mwsslIURE DS

A)  soear@elwiu’ L Qe Huugs

B) 2wwhlae Qe HuuEE

(C) Eopaurar uglay lyseT Aarar®h Qe HLuEs

D) fswrar cugiap lqser AaTam® el HruES

b7, The maximum shear stress in a rectangular beam is
M 1.5 times the average shear stress
(B)  1.25 times the average shear stress
(C) 2.0 times the average shear stress

(D)  1.75 times the average shear stress

Qseueus auigeu a9 LGS SifsLl g pn&Eeloms eremLg)

A)  ayred pmsE elansamwiGUITE QETDET LOL MBI

B)  syraf pmsEE eagamwiCuTeD @EaGDS&TD LOLHIE
(C)  syref pm&E langamwiGUTED @rar( LG

(D)  syref pm&EE edemsamuiGuTed QEGDUPSESTE L BIE

58. In rolled steel I beams, shear force is mostly resisted by

W Web only (B) Top flange only
(C) Both web and flanges (D) Bottom flange only

I-auqou @by 69 LS, pns@elams @zame adissiuBEng
A) @aenrly &0 WLHIWD (B) Cuwass@h wL(Hib
C) @eewriiy wHmid Coogs L Ted (D) &pssLme
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59.  Alag angle

(A)  increases the joint length and shear lag
(B)  increase the shear lag

W reduces the joint length and shear lag
(D)  reduces only the shear lag

Qevanriiy Cament &6 eTanLig)

A) Qeariy Caramgamgub pnisE Csmimewb ifsflEsd
B) pm&E Asrieme aﬁa;lﬂésﬁgpgl

©) Q@eariy Camemsamsb pHsHE OFTiemeu b LTS,
D)  pwéE Csmime GopsSns

60. The ratio of effective throat of fillet weld to its size is
(A) less than 0.707 (B) greater than 0.707

(©) 0.85 uf 0.707

LWIEnIml H(WPESIL UGS HHID BT fereyEEb Gan_ G 2 arar el &b

(A)  0.707 L& @enpey (B) 0.707 el fsid
(C) 085 (D) 0.707
61. In the pretensioning system, the prestress is imparted to concrete by

(A) compression
W the bond between steel and concrete
(C) tension
(D) bearing
§ly spsrarss wear-@uelms Qeiaurny AsrGssiL@Hpg)
A) pssbd

(B) 6To o, HDSTET NenawTiiLy

©) @ueeu
(D) g,méJ@g,eb
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62. Surface tension is due to cohesion between liquid particles at the surface, where as
1s due to both cohesion and adhesion.

(A)  viscosity

M capillarity

(C) vapour pressuré
(D) elasticity

uriy @eilens eramug) Lrlnde o drar SreussisarsEnsdal Cuwrar Wamamr Qe gHUBRE DS,

LOTMHITE eranuig) MenantliLy HMID L B Henenoulerme THuB .
A)  urghaw

B)  yeyCuppd

©) el siyssd

(D) BLé saneno

63. The pressure less than atmospheric pressure is known as

(A)  suction pressure
(B) vaccum pressure

W negative gauge pressure
(D)  positive gauge pressure -
aefl 2isssmsei Gmpairar oiWssbd eremg
@A) e pEs oiwssd
B)  QaaliCupp <issid
©)  edliivmp <iwssid
D) Cpiwep 2i(Wssid

64.  Which notch is preferred for measuring the low discharges?
W triangular notch (B) rectangular notch
(C) trapezoidal notch (D) parabolic notch

G@peuren GeuaflGupnsms erés 2 &hs @Q]&@G]@JL@ GUligGULD
A) w&Camem Qeul @ (B) Qséueus Qeul ()
©) prosy Qeul_@ | D)  upeuemerw Qeul_{
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65. Motion of rotating mass of fluid is known as

W Vortex motion

(B) Steady motion

(C)  Spiral motion

(D) Radial motion -

s flé Qaran(® pamb Hrasdear @ussd @aany SPluiu@Hps!
A) & Qussd

(B) evdywrer QussDd

C) &sHmp @ussd

(D) Gsmewr Qs

66. The relationship between duty (D) and delta (A) and base period (B) is expressed by

@ a=12E ® =2
MA _ 8.64B O a- 364D
. D B
where D is in hec/cumec
A is in ‘m’
B is in days.

ugliy (D), @b (A) wpmid sred (B) @eupbler Qg,rrL.r'fuﬂ&ﬂ@

1.98B 5.68B
@), A= | ® a=>7

8.64B 8.64D
(C) A= D M) A= B
Qe

D eranuigy hec/cumec @é
A erénLig ‘m’ @

 Berenug ‘days’ @e
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67. The discharge of water through a rectangular channel of width 8 m is 15m®/sec when the

depth of flow of water is 1.2 m. The specific energy of the flowing water is

o 1324m ‘ B) 2.824m

(C) 3.124m D) 4.123m

8 S wswweLw Qs sroeumi aufliCu 1.2 5 wsGsr@, 15L83/6\§] Sjerelled QeuafGuipmid

erafled, Limiiellen s ,HMed GTemLIg)

(A) 1.324m B) 2.824m
©C© 3.124m D) 4.123m
68. The S-curve is the summation of

MUnit hydrograph

(B) Total runoff hydrograph
(C)  Effective rainfall hj'etograph

(D) Base flow curve

S-euenereys Cam(h eremgy @eumdler dal L
A) @ree B eumyuLLb

B) Quwrss e B euenruLLD

©)  uwgy wenyp 65 auaLILLD

D) ©ngliueL gLl L euamerey

69. The number of wire in Magnel cable varies between
W 2064 ~ (B) 10to 100
(C) 20to 120 (D) 8to78
réCere el géeieter sblisafiarn cramenflsms DG LD.
A 2-64 : B) 10-100"
(C) 20-120 D) 8-78
<= 29 - CECV/18
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The section factor of a rectangular channel section of width ‘B’ and depth of flow Y’ is given
by

(&) By vf B(y)"?

(©  B(y)* D) B(y)*®

Qg B, umie) g Y 2 e w QFaicus @Gnis@Qeul_H urliLés, euge sryenfl eremLig
@ B(y)* ®) B

(©) B@)** (D) By)*®

The weir is always alignéd at right angle to the direction of the river flow because
(A) it ensure less length of weir '

(B) it gives good discharging capacity

(C) it is economical |

it ensure less length, good discharge and economical

erGurgib g niier Bir Qeaud HanadsE Qam@ss1s sHLLmenT &L LILHEDS), oEeraie

B Qs e@paren fersens o nHLGG5 DS

B) Q& <ds QeualiCumid Hpemeans QarHEHns

©) Eopeurer Qe

D) @& E@euran Harbd, oHs QeuallCunm Hmer LHMID Gmmeurer QFwames 2 NHUBSHHDS

The vertical depth of the centre of pressure, h for the inclined plane surface below the free
surface of the liquid is

—~ Igsiné I sin® @
A Ax?®

M’“ Igsin’6 o) z_lesin’®
Ax A

Brougidng &Cp smupgder ssl(Hu ui9e Qeududbd iWsssHar wsHwL Lerallsame
Coiré@ss smb b eranug

(A) B x+

_ I.smné I.sin? 6
ol R B) T+ ——
A Ax?
B gint P I, sin’ @
C ol Bl el M i s
C) x+ yT D) x 1
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73. The force exerted by the fluid on a pipe bend for x direction, Rx is given as
(P A), - (P, Ay), - [@ VeV,
B) (P A), +(P4y), + [@(Vo.-V1.)

© (B A),-(BA4,),-[Q (V,.-V:)
@) (B4, + (P, 4),

auanethg @wruie, x -asude Sreussred eaflssiL@w Syeu eflans Rx eremuig
@ (PR A),-(P4),-[Q (Vo -Vi,)

(B) (B A1)x+(Pz Az)x‘*jQ(sz_Vu)

© (B A),-(R4),-[Q° (V.-Va)
(D) (P A )x + (P Az)x

2

74.  Bernoulli’s equation written in the conventional form £+§—+ z = constant represents the
w 2g
total energy per unit , »
(A)  specific weight _ - (B) volume
weight (D) mass
p, v
QuirQememed FwerLim® — - wrdled eremm @GOG g HUILIS @ DH0E DG
w 2g ;
@wrss Spamans GHILIGGSDg)
A) sweren_ B) Qarerererey
©) aeoL D) Heop
r 75.  The path traced by a single particle of smoke issuing from a incense stick is a
(A) stream line (B) flow line
\M path line (D) streak line
25TUSHUNS BHE Qeuafleumd Larsulamed sL&sLLEWL UT®SWTEIS

(A)  Eyren Cam() B) umie) CarH
©) umeng Camlp D) Queaelw Car®
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76. Which of the following has the highest infiltration -capacity?
-(A)  Rock out crop

(B)  Concrete pavement in airport

(C)  Grazed pasture

W Forest land

EDSa@TLaupmIeT 6Tg) S eaBHayb Hmen QsmerrL g
(A) Qeuefludler QgMuyb urenm

(B)‘ eflorer HlenewsSler 2 erer Hawmareny LTes

(©) yeleuels Lgliy

D)  srl@ feouugd

7 Three basic modes of transportation are
m Land, water and air
(B)  Highway, railway and airway
(C) Airway, waterway and highway

(D)  Pipeline, belt conveyor and elevator

Curs@eursdlen epem i LILIL CUEMSLITES)
@A) flew, B, stHo

B)  Ap®HeErerane e, @rule euifl, cumen aulf
(C)  eumameuf), Hireul, ApHEheTame cuLf

(D) Gwml e, psmb Qual, Wergnss

»

78. Bump integrator equipment is used to
M measure pavement surface condition (B) find pavement deflection
(C)  fix camber value (D) find design speed

UL @Henwlu(hdgin smedludler Liwietum(E

(A)  smena@ ser gamenamW W (B) smene gem cuanem b Setenioemw iBlw
©) ©nss sfley aHw (D)  eugeuanoliy Geustdb yflws
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79. If d is the thickness of a concrete pavement the equivalent radius b of resisting section for

an interior loading is

A) b=v0.6+d?-0.675d
{lpm—o.e%d
© b=v1.6+d? +0.675d
®)  b=Vi6rd® 26754

8wy spsTer TR sasdar sSgerere] ‘d’ eraEQSTETLTD R 2D UEHDe

aPilugHsTar GnéE Ceul g6 snflana b ‘b’ erarug)

(A) b=v0.6+d*>-0.675d
B) b=v1.6+d?-0675d
© b=v1.6+d? +0675d
D). b=V1.6+d®-2.675d

80. Selection of géuge depends on
(A) Type of sleeper and ballast

(B)  Points and crossing

@ Traffic volume and speed
(D) Rail étrength and rainfall

Qriler @enL_Geuafl eremuigy, @l QuTHSSS
(A) TG sl LHID 5[’9@@9]@6’1) UG
(B)  yereflser wHmbd GnEEG ST

(C)  Gurs@eursg <erey wHmIb Causd

D)  @ruie cuallento HOID ML SHaTay
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81. The standards and laws for international flight are governed by
&) " 1AO & 1CA0
(C) ICO (D) CAO

sitauGge aflman Curs@Geursgl edldaman 2 (HeursEeig) .

A oage B) mfage
© mig D Age
82. Which of the following is taken into consideration while determining overtaking sight

distance in four lane highway?

(A) Distance covered during time

(B)  Distance covered during overtaking operation
(C)  Reaction distance plus overtaking distance

W Distance covered during reaction time plus distance covered during overtaking
operation plus distance covered by the opposing traffic

preng el Ap@EsETmauls WhHEIFRIEETE LMTma SITSMSS s ST UDDIET 6Tg
sm&H Qamerar L& DS ?

A) Qar@ssuul L Crrsdle sLs&sIuLL GITD

B) @ppgib Curg) sLEsLILLL SITD

(C) et Qeweur® gib wHMHID APHSID SNTSSe Fal L6

D) edi Qeweour® gimb, Whgd Curg SL&ESLLLL ST womd i e Qpfsaid

SL&SILLL gImb g Sweubdler sl L6

83.  Which of the following is considered to be the highest quality construction in the group of
black top pavements

(A)  Bituminous carpet J Bituminous concrete
(C) Mastic asphalt ' (D) Sheet asphalt

smuy Hp Copurleus Cerar. Cpélpey stoasalld Spssar_caupde g OsEEDHS

sL_(Hrenons smsUUGEDS
(A) gnﬁaﬂrﬂuq : ¢ (B) g Hawrameny
(C) QpSY pevumedr D) ssl(B pevumL
CECV/18 34 “

Auhippo.com




84.

85.

86.

Auhippo.com

The number of sleepers required for constructing 500m long railway track, using sleeper
density of M+5 and rail length of 10 m '
(A) 500 - 1{ 750
(C) 600 (D) 650
Qrie Herd 10 15, griug sl oiLisd M+5 Qaupenp vweru(Bisd 500 1§ Qg;rrma)eqe;@ @rule
umeng 2ienLoés GCeaeuliLBb sThi@E s L seafler eramenil&ms
(A) - 500 : B) 750
(©) 600 ' (D) 650
In highway construction, rolling starts from
(A)  from centre proceed to side .
(B)  from side and proceed to centre
w from side and proceed to centre and uniform ovér lapping

(D)  from one side and proceed to other side
ApBErerme sBLrasHd o menss @b mbs) Qsm_risuBEng
A @wwECsT G HHg LS 4HE
B)  ussam_ @B @LLSSDHE
©€)  usseur yambg @oLGHDE Ermar QugCiL@SuwLen
D) @o usssddobE <055 LsssENE
Tie bars are designed to with stand

% tensile stresses (B) compressive stresses
(C)  bending stress (D) combined stress
Qaanrs sipdsaflen Crmésid
A Q2w g;ma;mm erdlit Qamerer | (B) &@gg.gm&;mm el Qamerer
©€)  eumere) gansaeu erélit Qamerer D) Qaanns g,ma;smﬁ adir Qamarer
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87. The value of the dismantle property at the end of useful life period is known as
M scrap value
(B)  salvation value
(C)  junk value

(D) consolidated value

@m Qengden suarpgbsder GfssLLLL Qerddler LI eremuig,
A)  erepflw oy

B) Csups L

(C) omLps wHy

D) Al wdiy

88. When a property is sold at a lower price than that of an open market rate is known as
(A) assessed value (B) replacement value

W distress value (D) book value

shang loamuelL Gmpeaurs elpp Gersder wfuunas)
A)  oflwiul e wddy ] (B) wrhm wdliiy
(C) Gswns i (D) sH9s L

89. The Height of extra quantity of earth filled is known as
settlement allowances
(B) additional settlement

(C)  extra height allowances

(D) © embankment allowances

SIETeESEHLOTET SieL_HS LoeTeanflen 2 WL eremg)
(A)  SwhreysaTaTg

B) sz SLTESSTEG

©) &mbse au_u;r:ggﬁg)a;rrmgj

(D) sfeyssl [Homemd
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90. The following are the types of
(1) Plin’_ch area method
(11)  Cubical cdntent method
(ii1))  Cost Index method
(iv) Bay-method

(A)  Detailed estimate {ApproXimate estimate
(C)  Supplementary estimate (D) Centre line estimate

@ serugly epep
(1) sar oerey wpem
(1) Gsrers G H wep

iv) urgdl wen — ereTLET @SET AUMESHET

A)  effleurar wHLISE B)  Gamyrw wHUSE

© s wdHISH D)  @wsCam_H AUSE
91. The maximum slenderness ratio for a steel tension member is

(A) 100 B) 200

0
' 100 (D) 500

Qpeilens 2 miiseflen oiflsul s Qualley e9dsib
(A) 100 (B) 200
(C) 400 (D) 500

92.  Which of the following is the most accurate estimate?
(A)  Plinth area estimate (B) Cube rate estimate
W Detailed estimate (D) Building cost index estimate

Ylemeu(meuameuhmieT 618 HidTarilu HLSE
A)  serugliy LHISH | (B) saais wAHISEH
(©)  efleurer wHSE D) slgL GHSCEH LHISH

& , 37 CECV/18
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93. If the activity A proceeds B, but succeeds C then network is

@ @02 O
® ©-0O-5E-2-0
© ©-S50-2-2-0
v ©-0-20-50
B-is@ apein C-di@ aim _airam Qi A aréimigy
@ O-50-20-%0
®  ©O©-B0O-S-4-0
© ©@-S50-2-4-0
o (O©-BO-HE-5O

94, The out-turn (or) task for (per day, per person) brick work in cement mortar (or) lime mortar k
in arches :
(A) 1.25 cu.m (B) 0.85cum

W 055 cum | (D) 0.35 cu.m

e wallsaflen em preT Qsmisd Coume SHELEI. SOWF FemaTTLOL| QenewriiLimenends Gl&mesor(H
auaneTe &6t HL_(HCLITE @)euelaTe| G0

(A) 1.25cum (B) 0.85cu.m
(C)" 0.55cu.m (D) 0.35cu.m
95.  The carpet area of a residential building may be of plinth area.
(A) 15% to 30% - (B) 30% to 40%
(C)  40% to 50% - P7 50% to 65%

s 1qLgSlan 2 argar Lyl eremuig) Qeuaflimlisen @@mmm F56IHID GLD.

A)  15% s 30% B) 30% s® 40%
(C)  40% apse 50% | D) 50% aps@ 65%
CECV/18 : 38 : <«
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96.

Match List I with List II and select correct answer :

(a)

(b)

(c)

(d)

A)
(B)
(©)

List — I

Earliest start time of duration successor 3 I

activity minus earliest activity in question

Time available for an activity performance 2

minus duration of the activity

Excess of minimum available time over the 24

required activity duration

Difference between total and free float of activity 4.

PR DS S SO

1 2 o 4
1 2 1 3
2 1 3 4

1t 4 3

Auhippo.com

List - I1
Total float

Free float
Interferring float

Independent float

ulgwed I gg uliquied IT 2 1_er Quinpgd sflwimen ellen_anwig Caimb0s[H&s6Lb.

(a)

(b)

(¢

(d)

(A)
B)

‘)

D)

Ul iqwie— I
WenQarLirdln Qeweder gniguw F&8rD 1i:
<7960 Crrsdembg Caareuie o erer
E&dlpons < rbl9&E D Qawelern e SjeTane HLflESH
@ Qewame Qalieugn@adrer srasder saralamHg 2.
MG (Plg58 CoemeulIL(HLD STOSMSE SNSS0

GODHEULE AL HGWD STs MHHs QFume 3.
W58 CsamauliLi(HLD sTSmS HLHSS560
@@ QFwaler QMg iLs555DEWD sLLDHD 4.

L &E&ESSH DG @aent Cwwimrer Coumim(

@ ® (© (d)

O S R e
= = N DD
%
W s W s

39
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U iquied— IT

Qs SLGsLD

STITET HL_&&LD

GN&EEH L&D

saflssef oL &sb
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97. Minimum crushing strength of an ordinary brick used for civil Engineering work should not
less than
(A) 4 N/mm* (B) 4.5 N/mm®
& 50Nmm? (D) 5.5 N/mm®

&gl Qumdlufuied G@Jmma;@é@ 2 &b eupssonear Cgmigaaler GmnboUL & HadkE Sner

(A) 4 N/mm® (B) 4.5 N/mm®
(C) 5.0 N/mm? (D) 5.5 N/mm?*
98.  Thumb-nail and knife scratching test is to determine

M Hardness of stone

(B) Toughness of stone
(C) Strength of concrete
(D)  Durability of concrete

sl e Qumellye p&b wHmib s58 Aymiuliy Cergamen ergpans QeLwtiLBpg ?
(A)  sedlar syasseanano |

B)  sadllen @amrmisTssenanio

(C)  sparevgullen Hme

D)  spsrerue By sgmpaED Samamn

99.  During cement manufacturing, when clinkers are formed, kiln temperature approximately
s
(A) 1200°C ‘ (B) 1800°C
&7 1600°C (D) 1300°C

AQwerr 2 HusHule 2 mEsTRISD 2 (Heur@bCuUTg Geameruler Qailiblene

(A) 1200°C (B) 1800°C
(C)  1600°C (D) 1300°C
CECV/18 40 &
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100. Corrosion resistance of stainless steel is due to
M Chromium (B) Vanadium
(C) Carbon (D) Sulphur

SHUNGESTS 6To et @nﬁmrrém TS SEMEMLDES STTETLDTEIG) TEI?
(A) @anuS]u_lLb B) euCGarguwibd
(C)  smruen D) spssD

101. Drag lines are used to excavate
(A) Hard earth below ground level
W Soft earth below ground lev.el
(C) Hard earth above ground level
(D)  Soft earth above ground level

B maus Carpsar agmen Carearr LiweTu B Elamer?
(A)  sorolLsHnE ECL SqaoTar ETEneRT

(B) soywl i@ SCLp GoeenLowimen Lo anamT
(C) syl L §HnE CoGe sigeomer LD Gforem G

(D)  s@rwlLsdbE CuoGe Awaremwwrer LD GiTT G T

102. A continuous growth of the building along the main through face of the city is known as
; M Ribbon development (B) Urban sprawl
(C)  Green belt ' (D) Boulevards :

pETD  paudaid wsamowurear  auflSsL ssler @@qm‘e_’r,g‘,@m. Qgr_i&flurg &L L BIGET

2 (heumeugen Guwi
(A)  Aduer euerids - (B) parpridleremwo

(C) us&ew UL 6L D) 2.wa| sTma&EET

&« : | 41 CECV/18
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103. Brick earth contains major quantity of

W@ Silica . (B) Aluminium
(C) Calcium (D) Magnesium

Qgmhisa Wweimrentled GLIHLOUTE@TENLOWINS 2 6Ter Quimmer 68 ?
A  Adsr B) wgulelub
©) srofwibd (D) Qusatdwb

104. If ‘P’ is the standard consistency of cement, amount of water used in conducting the initial

setting time test for cement is

(A) 060P | ‘ L@y 065 P

(C) 0.80P 7 0.85P

S g uleor 'r_ﬂco)eourer. #LLLEH aumbd garew P’ erafldr g rbu @mE Corsmansstar Slar jerey

aTg?
(A) 0.60P (B) 0.65P
(C) o080P (D) 085P

105. The approximate ratio between the strength of cement concrete at 7 days and at 28 days is

(A)

" 4

(B)

D)

Wb |+
B lw |-

g spsreruer 7 prer AnasEid 28 preT AnendeE b 2 drer 69 Hsin arenan?

1 1

@ < ® 5

2 R
© 3 ® = ¥
CECV/18 4y | ' &
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106. Match List I with List II and select correct answer :

(a)
(b)
(c)

(d)

List 1

Excavation and moving
Pure excavation

Pure transportation

Pure hoisting

(a) (b) (©) (d)

1 3 2 4
3 4 2 1

3 2 1
4 3 1 2

List IT
1. Derrick
2.- Dump truck
3. Power shével

4.  Scrapers

ulguwied I iopmbd ui'_lq,u_lei; II weu Qunsgis. sflwurearens Caire) Qalis.

(a)

(b)

(©

(d)

(A)
B)
©)
D)

Ll guwie I

Caram Bz LHHID FETESISD
Ca e (HBe L (HLd
@LbOLWITES® oL GHid

THDES L Hid

(a) b - © (d)

1 3 2 4
3 4 2 1
4 3 2 1
4 3 1 2

L igwied IT
1. QuLM& (Derrick)
2. LU grs (Dump truck)
3. ynoe saflss (Power shovel)

4. eurflger (Scrapers)

43
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107. Select the number of type of construction according to fire resistance properties as per
National building code of India '

M4 (B) 5-

€ 6 (D) 7

Qbdu Ceslu sl@orargdeny, Ceuliu adiiy uaTysmar QUIMISS S PLIEEMS THFmaT

aumssemTs Core| QFwemb?
@ 4 B) 5
C) 6 ® 7

108. In geodetic survey, all plumb lines are

W Radial B ‘Contibitads
(C) Parallel (D) Perpendicular

yellemi erencuudluiailer Demanss QsiiE L &Csme Cam@ser erlLig UL L 6nau?
A) <orsCasrpser (B) Qsm_iéflwmeneneu
©) @oanwumrmael (D) QemEssrearmeu

109. In compass traverse, the fore bearing depends on
(A)  the extent of area to be surveyed
(B) the direction of true north
w the direction of progress of survey

(D)  the direction of magnetic north

Sevswrall GnsGLOESD e smhiE Caranbd ol QUINISSS?
A)  emeneu Qawiwybd uFnen esrasamg QUIMSSE

(B). 2_G@TENLDWITET UL &G Hens

©)  ememeuuwed erCearhn Hevs

(D)  shs euLsdlan Heans

CECV/18 &b &
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In tacheometry, the distance equation D = KS +C is applicable, only if
(A) line of sight is horizontal axis ;
w line of sight is perpéndicular to staff
(C) - line of sight is inclined at 45°
(D) line of sight is parallel to horizontal
GL&ECsTAwLMléd Qs sweur® D=KS+Cg eriGuIng) » vweuT.(Hé&@  ThESIS
Qarérereumd? : :
(A)  uritereusCGa(H HenL Lol L oTE @)(HbSTe
(B)  uniemeusCaTH LI LECETRIHE A5REGSSTE Q)b
(C)  umiereusGan® 45° Fmileuns QHbSme
(D) uri@asCaT® Lol L SHDHE Qameamuirs @mbSTe
Tacheometric surveying
(A)  Eliminates error (B) Eliminates curvature effect
W Eliminates chaining (D) Eliminates refraction effect
GL&CaTAWLME Deranauudwid Epaar_cubmier creng Cesng?
A)  Gempsmer selTEADS) B) eumarGs’ [H cdeeraneu sedisAns)
(C) smddurssme selT&Sng) D) geffass alamaramel gellT&Sns)
Face right and left observation in theodolite survey, controls error due to
(A)  Non-parallelism of line of sight
W Improper graduations
(C) Instrument not being centred
(D) Improper permanent adjustment
HOwrGLramal.  Serteadwded, er awg, Qs opnCprésd agemed  Gmpe
sL_HUUBHSSHEDSE?
(A)  uriereus Camigan GaammuileenTs Seento
(B) wpopwpn CarBsafle
(C)  smel WS @S
D)  wopudo HpsT HHSs0
45 CECV/18
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113. EDM stands for

Electromagnetic Distance Measurement
(B)  Electronic Device Measurement
(C)  Electromagnetic Device Measurement
(D)  Electronic Digital Measurement

EDM erénuigy) eransé @hlédms?

A) e aris Csramane) 2jere()
B)  Henangm smed jemei()

©)  Nensmhs snsar serei()

D) e Qavés eres ()

114. Hook’s law holds good upto
(A)  Upper yield point (B) Lower yield point
Elastic limit (D) Plastic limit

an9s efld) Qg euany Heps 2 ceng)

A)  Cuwe Apdlpe; yerefl (B) & Apdpey Lyeref
O BrAbwe errenew (D) Qpdf erevemen

115. Shear stress on a principal plane is
(A) Maximum (B) Minimum
Zero (D) Maximum or Minimum

R PsaTemL saTsdle) 2 6TeT FNISEEH smse]
A Quepwbd (B) &g
© & , D) Quemb g Hmiowb

116. The bending moment on a section of a beam is maximum where shearing force is
Zero (or) changing sign (B) Minimum .
(C) Maximum (D) Any value

@@ AL sden Qaliyed eumardmiemn QU Siatauns QwéE0CUTg pn&E elmsureang

ULy @) (M@ ?
Q) s sdvwg GO Ly (B) Amuwibd
(©)  Quepww D)  gCsaub em wHiiy
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The bending moment dlagram for the case shown in figure below will be as shown in fig.

T e AN

(©) D)

ULl Qar@ssiulL el LGl euanar SHLILjend LIL D 6T5I?

! l

i

o .
‘ |<— a—>—— 3a S |
(A) / \ (B) /] I\

O iy

Design of shaft made of brittle materials is based on

(A) Guest’sktheory (B) St. Venant’s theory
Rankine’s theory = - (D) Von Mises theory
QABTOIEIGELD SETELOW|ENL I QLITHLSETTE 6T SERTly HET THE 2ilqILIEDL U6 aulgeuaLOLILIg)?
(A)  sevigen Qsrarans B) - yeafs Qeuamen Qsmerens
(C) Crenensen Q&rdrens D) eurandeven Q&meTens

Which one of the following method is convenient for determining deflection of beam of

non uniform flexural rigidity? {
(A) Macaulay’s method Conjugate beam method
(C) Moment area method Double integration method

Ermm cuanereno edeppliGener Qarar el L sHar elewsEssms ST Hm (PN SLPSETL6uDHmIeT
GTg?

A)  QuasrGe wpem B) @mm el penm

(©)  Fmuyenw urly e D) @rier Qsr@ly wperm

47 v - CECV/18
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120. A simply supported beam of span L carries a concentrated load W at its mid span. The
maximum bending moment M is

v iy |20

2
WL WL
A | Ty

L perd Qe craflgmmiid) e _sHean eww B s8d W eramm yerafl L Q&u_muum_l_rra) @@aﬂ
Quem giener HmLiento M eremen?

WL WL
2 -’ Sy
WL WL
i | e

121. A simply supported beam of span L carrying a uniformly distributed load of w per unit run
over the entire span. If £ is the Young’s modulus and I is the moment of Interia then the
maximum downward deflection will be

wlL? wL?
A - B
@A) 4E] (B) 3 EL
©) wL? 5wl
48E1 384 E1

@@ L hend Qerar. erefigmiid ofl L sfen Bg wpp BULsHDGL w /e Bord Qarem. UDL
GawdulLme, = wngarsb, I = fleawn Sy Sper arafle, el L sder Qum efaésid ereman?

wl? wL?
A B
&) 4E] g &) 3EI
L’ ' 5wL*
s R D
© 48E]T D) 384 K]

122. If the normal cross-section A of a member is subjected to tensile force P, the resulting
normal stress in an oblique plane inclined at angle “#” to the transverse plane will be

A) gsin 0 Q{Zcosz 6

(C) %sinz ] (D) %cosz 0
@ 2-puder GnsE Geul () uriy A. siger Bg P erenp @pelas Qeweu®ng. Q&raj@’g@u_em 7]
erenm Fmiey CaTawm smicurar sersde 2 drer Qsmi@GEHs Smea, cTaran?

(A) %sinz 7 (B) gco# 7
P . , ‘ P
C = K 2 - 2
:( ) A sin” @ (D) 24 cos” @
CECV/18 ‘48 <
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123. If a circular shaft is Subjected to both torque 7 and bending moment M. Then the

equivalent bending moment M, is given by

2 2 : 2 2
J Me:M+.\/M +T ® M -M+ M*+T
2 2
©C M _M_‘M D) M M-l e T
e 2 e 9

@m L g samgan g auemer Hpligenn M b, pmée Tb Qewdu@deamer. erafé swrear aiamer
Smuyenw M, erenen?

2 2 : 2 2
@) Me:M*“‘zl 2k ® M, =M+ M;—T
2 2 2 2
© M -M- —M—;L ) e=M‘“‘24 it

124. Strain energy theory was postulated by
(A) Rankine (B) Mohr

(C) Tresca \w Haigh

Sifly Hmed QameTend ag‘,]aﬂ@;_’r;gj aumedll&EsLILBHE DG ?
(A) CGpenenseir B) CGuwrr
©) wQyevamr . D) evam

125. A perfect frame should satisfy the relation.
A m=3j-3 B) m=3j-2

C) m=2j-4 ' Mm=2j—3

@ sflwrear §L_sb SPpaamTL ehg Fwearur L Hlane| Cewiw Ceuamr(@b?
A) m=3j-3 B) m=3j-2
© m=2j-4 D) m=2j-3

& ' 49 CECV/18
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126. Well conditioned Triangle is related with
A)  50° 40 o 560 14

(©) 60°20 (D) 66° 15

Be@ HlevalilBSsILLL WP&ECHTMTLD eTHenL 6 (T el wg?
(A)  50° 40’ (B) 56°14
(C) 60°20 » (D) 66°15

127. A suspension cable, supporting loads will be under
(A) compression
M tension
(C)  bending

(D) compression and bending

LI@h&SEMET SThIELD ¢ G&TmiE euL b eriCungb erhg ellengenw amem(h QméEWn?
A)  YsE

B) Queims ellenmLiy

(C) euemerenn

D) SiW&E LHHID eumETELD

128. The moment distribution method is formulated by
(A) Thomas Young (B) Kani
(C) Mohr M Hardy Cross

HmLULEnLD LFeue (penn eTH6T g liLient_udle 2 (meurerg)?

(A)  smwoev wrs B) saf
(C) CGuoni (D) amrirg &lymev
CECV/18 50 Wit <
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129. The greatest eccentricity which a load w can have without tension on the cross-section of a
short column of external diameter D and internal diameter d, is

D? +d? D -d’
B
8D ®) 8D
D? 4 d%) Berd®
L s D
© : 8D ( ) 8z D

. Qeuaflefl b D whmid 2-erefl b d QararL @né@0eul (B QamesrL @@ GLLS grewtled Li@mp
w 248 QMmEED Curgl gl @Qeilas Qdamoe Qmas Comeuwimear QUL ewwGnpey eremen?

D? +d? . D - g
A B
@ o ® =5
z(D* +d?) D? +d?
© 8D D) 8z D

130. Drops are provided in flat slab to resist
(A) Bending moment (B) Thrust

M Shear ! (D) Torsion

\

UL e U1 LssHle SDaEMTL cTeng ShIGeUSNETS @n&asnigar Qar®hasiiuddamen?
A)  euemer FmLiemo B) sipssd
© pn&G - D) woss

131. The place, where aircrafts wait for take-off is
w Holding apron
(B) Ready apron
(C) Hangar
(D) Reserved apron

eflremiigar uPLILSHE SWTTTE BiD&EEs g w @)L SHler Quwim
A)  QGqflee @b

(B) swriblene @L1b

©) ueaflwener @L b

D) egmssuulL @D

& ' 51 CECV/18
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132. Statically indeterminate structures are also called as
(A)  unstable structures

(B)  serviceable structures
M redundant structures

(D)  determinate structures

Hlene semadlLmé SemanioweTer &L aLOLIL&ET eTeueumn Sianp&siiLihdemmen?
A  Heweowpp sLmwliysar

B) uel Qe s_Lemwliyger

C) Versero sy ser

(D)  sawmafHsemenid QameaTL &L LoLIL|&e6T

133. The degree of static indeterminancy of the beam given below is

xHinge

=g b
(A)  zero | : %)ne

(C) two (D) three

uLgdler Aar@asiul L el L gden Hlane samsdrsgamenoulen iarey ereer?

Hinge
¢ X
gkl © ST
A &8 B) qem
©) Quaw (D)  eperm
CECV/18 52 @
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134. Find the reaction R of the propped cantilever shown in figure

/w/m
[N RGO RN R
. 5
l : 3
(A) w? s Sl
© ® Zuw

UL arlLiul (Herer WL ® Gisg N L g gnuBb erdlrelens ‘R enw seir(Hi9g.

1 "~~~ ik
g 5
’F l //It R
wl - 3
© “ ® 2wl

135. In moment distribution method, the sum of distribution factors of all members meeting at

any joint is always

A 0 (B) lessthan1

M 1 (D) greater than 1

Hmuyen ugeud penmudle, @@ yerafluler spfla@d marsg 2 mlilsater Lreue smrenflaefien
(D rIGUITGID eTGIeUTE @) (HEEGD?

@ o0 A B) 1ls@@opaurs

<€ 1 D) 15 swrs

. 53 CECV/18
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136. The positive and negative shear force (kN) of a given influence line diagram shown below

1100 kl\é

1; - B

5m 15 m

- —~o0.25

A

(A) 75,50
B) 175,75
w/ 75,25
D) 25,75

uLgdle Qar@asiuul L urdluysCasm_( uLsder Chrwenn WHMID ediwan BnsEGelms (KNe)

GTeUGIETE ?
1100 kN
C
A,I: ' B
~ &m 15m
- —~J0.25
(A) 75,50
B) 175,75
(C) 175,25
D) 25,75
CECV/18 54 <
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137.

138.

139.

. Which of the following method is a displacement method?
(A) Column analogy method
(B) Three moment equation
(C)  Euler’s method

M Moment distribution method

Yemeu(meuareuHmieT erg @LLbuwrds] wpenm?
(A)  gnaw gie) e

B) . wpsHmuyeo swerLim(

©) | <puiefler penm

D)  Hmiuyenw ureied aperm

A fully saturated soil is said to be

(A) one phase system

(B) two phase system with soil and air
two phase system with soil and water

(D) three phase system

@ WpHMeud Qagbiw e eTeueumn mPaEsLiLHEng ?
Q) egnop s QsTEuy

B)  war LHMID sTHEOD AsTETL @Il S OgTELLY
(C)  war wHmb Beny Qaream QrienL &L GgTELiy
D) @wss_L AsrEuy

The ratio between volume of voids to the volume of solids is called

( void ratio (B) porosity

(C)  air content (D) degree of saturation

srplenL_Ceuefisaiien sam sema|&@ELD, ﬁca'urmréjasérﬂeiﬂ &6 D6Te&(GLD 2 aTer ll&SLD
A) yeoy iz B) yenyeno
©€) sy aray D) fleop Aedley sierey
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140. When the degree of consolidation is 50%, the time factor is about

W oz B) 0.5

© 1.0 D) 1.5

2U(WPHED emey 50% erafled, Cryé smyend eramig
A 0.2 B) 0.5
© 1.0 (D) 1.5

141. Which one of the following statement provides the best argument that direct shear tests are
not suited for determining shear parameters of a clay soil?

(A)  Failure plane is not the weakest plane
M Pore pressures developed cannot be measured
(C)  Satisfactory strain levels cannot be maintained

(D)  Adequate consolidation cannot be ensured

Gy pmiseE Corganen, saflaranés@ QuTmssLidame, O araia
A) e mE@®L6ey FED eTaLg BbS SETD 6

B)  gpulL e Senssamer SjemellL_piguimg

©) Gsmeuwrar fifiy Hlevaamwu HoeliL@és wpigwrs

(D)  CGurgiorer Sy ( e pHudms

142. Soil pressure distribution below a r1g1d footing on the surface of a cohesive soil is
J Minimum at the centre and maximum at edges

(B) Maximum at the centre and minimum at edges
(C)  Uniform throughout

(D) Maximum at one end and minimum at other end

saflwar 15 ellenpliL soLssmd 2 drargafle, £Cip e <i(ss efFeud eranug
@A) @vwiueduid Gmparseb eflafbidd sdswreb @ maEED
B)  @vwiuEdula dsworse)b edafibiGé Gopeurseb @ mEsD
. (©)  &yra Qmé@E D
D) oo poanis sfsorseab wnpamandd Gmpeurseb @)me@Lh
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143.  For reinforced concrete structures supported by isolated footing resting on sand, the

maximum permissible settlement as per IS : 1904-1986 recommendation is

(A) 75 mm : (B) 60 mm

(C) 40 mm ' : x 50 mm

IS : 1904-1986—c1 Uiy safl SHLEHTOTD SIRIGLILLL 6Too@ SDET®F AMWOLIL DETEdle
Bl GLCUTE), A ESEIUL L DPBIGD eTETLIF)
(A) 75 mm -~ (B) 60mm

(C) 40 mm | (D) 50 mm

144. For getting undisturbed samples in soft and sensitive c'lay soil, the most suitable soil’

sampler is -
(A) Open drive thin-walled tube samples
(B) Sfandard-split-spboh samples

: ./ Stationary piston samples

(D) Thickwalled samples

Qoareniowime wHmb o ariedlss seflbamailes wearordfl ah&és Wsad 2 &Hg Wwewr WIS
GeaMiiurer @& @0

A)  Hops paasamear 2 e Qwaallw seuhenw wewr wrdlfl Casfliumer
(B) - Qepdr Dereyu®id weir wrdfl CasfiiLimer
©) Hevawrear 2 pbd Aarear wer wrdfl Cesflmer

D) 51&s FeumanL W WwarTomSl Cesfiumen
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145. A soil sample is having a specific gravity of 2.5 and a void ratio of 0.5. The water content in
percentage required to fully saturate the soil at the void ratio would be

Aa) 25
B) 25
©). 5

sararriy 2.5 wpmib areldsn 0.5 @& Qeran, wearordflse Hop Qsdley Howds ey
Caemeuwmen Bilem ojarey cranLig) - ‘

A 25
B) 25
© 5
D) 20 |

146. Wear of rails is maximum in

(A) tangent track

M sharp curve

(C)  tunnels

(D)  coastal area

=i @ierey Caiimad THS g,a%n_aﬁrmg,ﬁei) QmEGWD?
(A)  CLémgen gawrL_eumerl Litens ‘ '
B)  smprar LUTIMETWLIAPETET ST GUTETL) LITENS

©€) E®s s@ovUGQTar SEHTLaUTeT) LTns

D)  sLDs®TES <(mSQieTer ST eumeT LTang
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147. The modulus of volume change or coefficient of volume compressibility is defined as

y the change in volume of a soil per unit initial volume due to a unit increase in
effective stress : '

(B) the change in volume is proportional to the change in effective stress
(C)  ratio between change in void ratio to the change in effective stress

(D)  ratio between change in effective stress to the change in void ratio

GameTeraTe LIHD FemenLO érainug A

(A)  @rere) LW FM&6 LTHDSSTE GHU(HILD LOEITETI 6T LI(HLOGTETE] LTHLD
(B) Qsmereraray omhmiomeng) L) Senseysd@ Crreldlssdd @)\msdng

(C) meamCeuafelidls mngbrfr)(&,;ﬁﬁ)@m LW EI(HSM&6a &G 2 aTer 6SlSgn

D)  vweym smsa) LTHPSS DG HaTCeuafellds LIHPSHDEGWD 2 arer a0

148. Undisturbed soil samples are required for conducting
(A) Hydrometer test
(B)  Shrinkage limit test
W Consolidation test
(D)  Specific gravity test

&@é;@a;a)u_lrr weaTorHf eramug Qbs Corsmande, Ggmwulu@\ﬁgpg,j
A)  Brwowrefl Cargamen l

B)  smaE How Cergeman

(o) Syl Hlevew Camgenan

D)  sw Henp Cargean

149. Minimum size of the solid particulates that can be removed in a settling chamber can be
calculated using :

M Stoke’s law T (B) Darcy’s law
(C) Henry’s law (D) Newton’s law

Sl gje;dTaSGU)GT.LS]Iﬂl'_Iug;[j)@, ABET GPDHSULE Sfereneu Qeupenps Qe (h semssleomd
A)  wGLméev 648 B) Lmié 8
(C) Qawen cdl D) Byl e el
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150. H_uman beings are most sensitive to sound oscillations with frequencies between
(A) 100 — 1000 cycles/sec
(B) 200 - 2000 cycles/sec
(C) 300 — 3000 cycles/sec
400 - 4000 cycles/sec
el jemey Geueurm @) Hé@LELTE walsisdr LTdés LGS priser
(A) 100 - 1000 cycles/sec
(B) 200 - 2000 eycles/sec
(C) 300 - 3000 cycles/sec
(D) 400 — 4000 cycles/sec
151.  Which of the radioisotope affects the entire body tissues
Iodine I'* : (B) Strontium Sr®°
M Sodium Na* ' (D) Cesium Cs"’
2 L @@Qsdsmer LUTdég b Crig GuimepGemGL) GTEITLIg)
@A)  Gumger I'* 1 (B) Gfu(ﬁqrrsimq_u_u_.b Sr#
(C) Gamgwibd Naz4_ ' D) & wb Cs™
152.  The minimum size of RCC manhole cover in a sewer system is
(A) 30 em diameter : (B) 40 cm diameter
M 50 cm diameter (D) 100 cm diameter
QST  GLPTLE®S, Qurr@g,guu@m aflumtiy é,]avrg)ﬁflm oo Al sharemy el uler
GODHSLLE 2|6T6y GTEITLIG) ' '
(&) e Lib30cm  (B) efliib40cm
©€) e Lib50cm D) &b 100cm
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- 153. The filtering media of stone ballast or.brick ballast is used in 3
(A) Intermittent sand filters '

W Contact beds

(C)  low rate trickling filters
(D)  High rate trickling filters

&6 () Cemse LBeEsula LiwieTuHib QJLq_5.I._lq_
(A)  pOSST T auig.H Ly

B) Qsr_iyubpens

(©) gngﬁmw GUIgBLIg

D) e wiblene euigsLig

‘ 154, = The water which is not chemically pure but does not contain anything harmful to human
: health is called as

(A)  Pure water (B) Distilled water
(C)  Drinking water . : W Wholesome water

wafls 2 L Qi&E S aﬂmmaﬂ&a;ng, FTGTTGT SERTEH T GTEITLIF,)
(A)  sgswomen Hir - (B)  arewey i
©) @9 b ' D) Gurss pir

155. ‘Mathemoglobinemia’ disease to children is caused due to excess presence of

W Nitrates

(B)  Nitrites
-(C)  Free ammonia

(D)  Albuminoid nitrogen

GYHmssErs@ “‘BsHCLTECermaBlslur” Crmi @& iSswns @@L’Jugne’u UBHEDE.
(A)  epLCriev ‘ |

(B) eplenylen

(©) <wCwreflwim

D) ey WSlermie enpL a6
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156. The limiting value of cant gradient for all gauges

1in 360

M 1in 720

©)

D)

11in 1000

11in 1200

reemeuams 3jeme| @huraguigib Caer smil i Lkisefler ojeTey eTeucuaTeUTs @) (HEED?

(A)
B)
©)

D)

1in 360
11n 720
11in 1000

11in 1200

157. In a singly reinforced beam, the effective depth is measured from its compression edge to

(A)

tensile edge

M tensile reinforcement

©)
D)

neutral axis of the beam

- longitudinal central axis

Cueuss sbl o 6mer @ il S LD WD CTATLF, SPES aﬂaﬂm@sﬁ]@pg @seuer

sjerell_ LB &mg).
A Quesilos ugs eflefliby
B)  Gupedlens 5019 LiGHser
(C) oL enows &5
D)  eww Her oFs
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158.  Web crippling generally occurs at the point where
(A)  bending moment is maximum
(B)  shearing force is minimum

w heavy concentrated loads act

(D)  deflection is maximum

Qurgleuns @enamriiL| S&0 a@é;@ma)eu BL&GLD Larafludled
(A Amuyeims afsnrs @QmeEn

B) pnéEdas GODAUTS @) HEELD
- (C)  <Qsdlap L Ll LiEn deweu®in

D) cuemere| FsW0NS @@é;@d)

15 . The minimum p1tch for bolts as per 1S:800-2007 is

W 25d , , B) 3d

(© 38.5d (D) 4d

where d — nominal diameter of bolt. -
[S:800-2007 &bt Liig. %mﬂa;@ééﬂml_Gu_lu_lrrem yflulen_ggmrid Greinug;j‘_
A 25d @B)  3d

(© .. 854 ' (D) 4d

@fe d —spamfl 6L ib '

1160.  Gauge of the bolt is the distance between two consecutive bolts in
M the direction perpendicular to the direction of load/stress
(B)  the direction of load/stress -
(C) the direction at 45° to the line of action of force
(D)  an inclined direction ‘

@ran® 205088 waTLTElsEhsSoLCuwrar gD  Gdieumm) amé;a;uuu'_l_rrsb‘ 3G
wengwireniuder cuflenssd gy eran SieWasILHEDS

(A)  eles/smse) dewouBD Q@&é@ Qe s Has

(B) ofeng/smae) Qawuauib Sas

(C) eleng Qewdu@b Camiyne 45° C‘éa;rraﬁ({r,ﬁéo 2 drer Sleng
D) qmenups Car@ ;
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161. A partially pre-stressed msmber.is one in which v |
W limited tensile stresses and controlle_d cracking.are pérmitted under service loads
(B)  mild steel is used in addition to prestressiné stesl
(C)  no tensile stresses are permitted under service loads
(D) limited tensile stresses are permitted but no cracking under service loads
uGSHwurs (g)strmrﬂm&uu@gguul'_; 2 MmILIL GTeTLig)
(A) é{mmv;sin G pelleans LDg')g]Lb SLHLUUOSSILLL Qeuig Ly
B)  Wswrer s u@ehu@(é,g,ﬁu@eﬂg)gg |
©)  Queims favL_wing
D) sereyer Qeilans, Geuig Uil saLg

162. A simply supported pre- stressed concrete beam is expected to carry uniformly dlstrlbuted
load. The tendons should preferably be

(A)  acircular profile with convexity upward
4(B) a straight profile below the centroidal axis
M a parabolic profile with convexity downward
D) a straight profile along the centroidal axis
B peoazmadulaierer wpearelams gpmliLl L shsray ol Lib & uruY u@pemeu i@ Gurg,
GULLD GTEITLIZ) :
(A)  Cua@geie e el L augausded @) maas Cauam@id
B)  @ow sisaEE EGip Gorms Gmés Casam(id
Q@  Ep@efeyen saigws UFeuamETLID

D)~ www Fs uPCL @evartiins @@ézaﬁ Geuamr(hid

163. The decrease of stress in steel at constant strain is termed as

(A)  creep -~ (B) fatigue limit
W relaxation | (D) endurance limit
wrprs SflLjedle soaay Goply mﬂu@
A)  pLa B) Qowss
©€) @ub wrhu ‘ D) wpyeeme
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equation derived above the velocity head or the kinetic energy per unit
weight of the fluid.

(A) Euler’s “Bernoulh”s
(C)  Viscosity (D) Velocity

dewsCous 2 wita s G (i) freusder @ra@ oL @Quss wHDRIGEE HaLsEn swaun)
GTEITLIG)

A)  uieiav (B) QurQereredsiv

©) urghlae D) HewsCeusid

Mannin.g’s formula is used for the analysis of the problems of
- " flow through channels |

(B)  flow through pipes

(C)  head loss due to friction in channel

(D) head loss due to friction in pipe

@eupmler LiGLLMie&E@ Coeareaflni‘ey Foerumh 2 g6 dng

A)  sréeumi eud gL L b

B) Gwml el el b

(C) ameeumi 2 gmieller @iy

(D) w2 gmieier @iy

A flow is said to be ‘ when the various fluid particles move in layer with one
layer of fluid sliding smoothly over an adjacent layer.

(A) rotational

(B) irrotational

w laminar

(D)  turbulent

@LLID GTETLIg) erend spLLBGdng, erl@umrpg erafled QeucuCGeoumy Hreusgeafiser
R 2AHESTE BHMHOLCUTE, R AHES Hreud ASHE ADSsieTer HEEG FreusHanCoad eu(psds
Qe Qecrensulen.

A)  &wpoelLbD

B)  spapm LD
(©) ssBeugel @LLId
D)  gyusHp @LLD
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167. Which one of the following methods of application of water may be suitable for rolling land?

(A) free flooding
(B) furrow flooding
(C)  check flooding.

w boarder flooding
FLPE ﬂmgﬁ]m@ EpsaaTL @Gﬁg)asaﬂeb eThs BriiLngean (penn SGHSSTS @) (H&EGLD?
A)  szpdr Qeudrars QumEES wpenm
B)  wysH Qeuerers QUBHEES WP
©) seuY Qeudrers QumEE wpenm

(D)  erévene Qeueerts GLImHEE; (Pevm

168. A sodic soil is having pH value

(A) 85 \J’ >8.5

(C) <85 (D) <7.0
Gamiqé weranflan pH wdiumeang;

(A) 85 (B) >85
(C) <85 D) <7.0

169. A venturimeter is used for measuring
(A) Piezometric head (B) Total energy -
W Flow rate (D) Pressure

&G GRmuwreafl Qg ojerés LwerL (HEng

A)  2wie Hleve (B) Qurss mme
© umieyeigd D)  <=issd
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170. If wheat requires about 7.5 cm of water after every 28 days and the base period for wheat is-
140 days, then the delta for wheat is

V_37.5 cm (B) 35cm

(C) 30cm : (D) 41.25 cm
Cangienwse @G 28 pris@ps@l Ung 7.5 Qs.18 sameafi Cymau arafld whmib Cargieouen
@il elear srewb 140 prisar aafld Carglowses Comauwrar oL maller wiliiy

(A) 37.5Qs.8 (B) 35 Q&8
(C) 30@s.8 (D) 41.25 Q&5

171. The protection works are designed for a scour depth ‘D’ equal to

A) (y? 4 o.5j | ®) (y? oh o.ej

M (-y?’— + 0.6) (D) (y? + 0-6)

<@ty b D’ aausn@ sGUY uaflwreng Geueimm aulgeUaMLESELILIHE DS

Yu Yu
(A) (—3- + 0.5) B) ( 5 + 0.6)
yu yu

172. Barrage differs from Weir when
(A)  major part by gates and minimum or nil part by shutters
(B) equal part of ponding by both crest and gates
(C) minimum or nil part of ponding by gates and major part by crest
@ major part of ponding is done by gates and minimum part or nil part by crest

SO HDILD SENERT G)eUeUTDITE CaumuGémg)

A) <fs ued ssaurd CsssLLOEDS, GPDHS UGS SODgG @M UGHYD G
L Lume CssauLBEDS

i (B) 2.és wHYD 556 JHweHPTOD s UGS CossliuBous)
(C) E@DHS UGS ADDF @B LGSULD QOO SS6ITED GassliLEADG LHMID s LGS

o §flwne CassiL(HEDS
D) 9ods ugd sgeurd Gg,a;auu@aﬁlg)gj LHYD GODHS LGS BA0g @ LUGSLD Gaemod
ssaumd Cossl LB EDS)
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[Turn over

Auhippo.com



Auhippo.com
173.  The study of fluid motion without considering the forces, causing the flow is known as
kinematics of fluid flow
(B)  fluid statics
(C)  fluid dynamics

(D) forced vortex flow

g eflensulianmed fyeu UL b AapdpGsar <ibs elamsmu smsHo Gararanmioe, dlreu QuisssmsL
LbHlu Lig iy

4)  dreu umiey Quss e

B)  fra flovew 2ipdsid

© dre Quighao

D)  euer s Quissid

174.  Afloat is a small object made of wood which is used for measuring
M velocity of flow of water in rivers (B) velocity of flow in pipe
(C) discharge in channel (D) discharge in pipe

wrgglemd ar AP Wsmas @aswiaréss vweru(h &g
Q)  ypopier gL Cussms B)  Gwmid Bl e L Caussms
©)  sroaurd Bir QeuefGupmid D) @emnd fir QeuelCGunmid

175. The hydrologic routing methods are based on
continuity equation only
(B)  energy equation only
(C) momentum equation only

(D)  continuity and momentum equations

BRlwe wHAISEH wepser @eunann Sl LU WTgE Osmes (Hererer
(A)  QsTLiés swemrum® wr_Hib

B)  Hper swerur® wL_Hid

©€) - QuniiE eleng swearLin® wi_ [Hib

D)  Qprich whpid GuiiEedens sivdrnGadt
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176. At sea level, the value of atmospheric pressure is close to
(A)  1.033 m of water column
\M 10.33 m of water column
(C)  103.3 m of water column
(D) 101.3 m of water column

B L g, auafl 2isssdldn sieta) @sDE SiBED MmEELD
@A)  Big grewflen <erey 1.033 m
B) B grewflen siamey 10.33 m
(©) B gnenflen arey 103.3 m
(D) 1% gnenflan sjarey 101.3 m

177.  According to Kennedy, the silt carrying capacity of a channel varies with velocity raised

power
1 3
@ 2 ®
2 5
@ 3 “ -

Qaerarg. Cam_umiqer Ly, @ srodeuruier euar_d <flliy aanLg) Slevs CoussHen @bs Lig &G

AT
1 3
A) 3 (B) 3
2 a
©) 3 (D) 5

178. The rise in the maximum flood level of the river upstream of the weir due to its construction
is termed as

(A) waterway wafﬂux
(C) freeboard (D) retrogression

Siemenr B s_(Horargdler Gurg Cuauss Bir 2 wirfleae eremug
A)  Breuf -(B) Wlens 2 wirey
C) @ Qeuafl D) B @iy
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The intermediate sight distance for a highway with head light sight distance of 70 m is

(A)  105m (B) 104m

W 140 m (D) 100m

wpauy eflerég gy 70 B 2 L w ApHEFTmREES, @evLLiu L Lmreneu LD 6TeLIg)
(4) 1058 (B) 1048

(C) 1408 (D) 1008

180. The value of mechanical widening for a highway of 7 m wide on a horizontal curve with

radius of 50 m, us;ng wheel base length 10 m is
A 256m B) 1m

" 2m (D) 0.50 m

7 8 wsesmsb, 50 8 Yrs@msyb emLw ApHEFTowsE Comewmar Qurludwed SiseLd
aranLg) (8667 Sigsger Berd 10 15 erafled)
A) 2515 B) 1.8

© 28 (D) 0.50 8

181. The temperature at which ductility test is conducted is
(A) 25°C . B) 50°C
© 20°C & 2rc
@peau Gergeamer @bs Qauliu Hlaneudledn pLgsiLBADS
A) -25°C (B) 50°C
(C) 20°C (D) 27°C
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182. Track circuiting indicates the
presence of train on track
(B)  derailment of trains
(C)  spacing between trains

(D)  capacity of tracks

Qe urengé sHm ereTLIg Qs GHEADS)

A)  urengulled 2 arer QML euesTlg.

B)  Qsmfreuaitg. SLbLTEHSH

(C)  Ggmir euaimg s@péHen Guwrar @an_Qauef
D)  @ruie urengufer Hmen

183. Cruising speed of aircraft is
(A)  speed of aircraft with respect to wind
w speed of aircraft with respect to ground
(C)  speed of flight
(D)  speed of pilot

eflreangdler sany Coustd eTamLig

A smHeopl Qurmsg elwrarsder Cousid
B)  serewl Qurpss elorasdar Cousib
(C)  MwransHen Cousid

(D)  eflwrafluder Ceausid

184. Which system help the engine driver to observe visual signals and in case of his failure to do
so, to reduce automatically speed and bring the train to stop?

(A)  Absolute block AT.C.
(C)  One Engine only : (D) Pilot guard

Q@mLiT euasTly. @L@mr’r uriereu slléam@nenw LTTES seumid UL FSHD ahs DAawliy pen
sramsGas Causdmss Ganss Qs auamymu Hnss 2 sedng?

A)  smeriurer sHLIY B gy.&

©C)  @mepdybd L Hb D) @l@anm 2 g
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185. Which of the following is a semi natural harbour

(A) Mumbai (B) Chennai
(C) Kandla W Vishakhapatnam

Spssa@m_auDDIET argl UGS - QUHams SmDPSLD
A)  @weu . (B) Qeenener

(C) smawr_eom D) efemasliuligerd

186. The main function of a fish plate is
To join the two rails together
(B) To maintain the Gauge distance
(C)  To join the rails with the sleeper
(D) To allow the rail to expand and contract freely

Ber ga1_1q 61 LAggmen Liewnfl

A) @ @rnidsmanub GQamearss

B) @ Qeasflerw 355 meuss |

(C) @riee s sl oL Curh Qamearss
D) @nie smhsab eflflweynd

187. The lengths of the standard crossings in India for broad gauge and metre gauge tracks is
same for

(A) 1in8% B.Gand 1in 12 M.G.

(B) 1in12B.G and 1in 16 M.G.
W‘ 1in12B. Gand 1in 81 M.G.
(D) 1in16B.Gand 1in 12 M.G.

@pHwurede sise wHpb B LT @ruid LTassEnéE CebsT GNESL e Berd s G HUILS)
(A) 1in8% B.Gand 1in 12M.G.

B) 1in12B.Gand1in16 M.G.
(C) 1in12B.Gand1in8} M.G.

(D) 1in16B.Gand 1in 12 M.G.
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188. Wind Rose is used for

(A)  Construction of Taxiway
w Orientation of Runway

(©) Orientgtion of Taxiway

(D)  Orientation of Terminal Building

STHDH QUEML_LITLD @euDenm ienndasL vweruhEmg

A) @eariy gar aufl

B) @6 gemd
©) - @evarriiygger aufluler Hana
(D)  eflwrar flavew s gL Hleva

189. Dry dock is meant for
(A)  Carrying out dredging of operations
(B)  Carrying out training operations
W Carrying out minor repair works of ships

(D)  Carrying out major repair works of ships

2 @it ueamflwmer Q&mneE LwerLHEns
A)  anreummd Lewf ‘ B) v¥HAL Lewd
(O suueler Ay Ls B&@ELD Lanfl D)  stueier Qum ugl B&EWD Lenf

190. Working out the exact quantities of various items of works is known as
(A)  estimating (B) mensuration

(C)  valuation %]uantity surveying

uoGan euamswirer Lafllsafer gdedwinmrer é{@ﬁma;mm sansE (Heug
A)  25Css LHISE : B)  2.m e Gwe
©€) wHWIPs D)  erey Seamaund P
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191. Sinking Fund Co-efficient (Y,) is

i

A Y =

@) o)

@V Dot
Y § %) e |

R

l

@) Y. =@+

Gsihg Agmens ‘(Y,)’ eremug

i

Y, =

@ r=uiy
| I TL LA
® ¢ @a+i)-1
© v -4

l

® Y, =@+

192. The total cost of the project depends much on
(A)  Area of the building
(B) Specification of material
(C) Specification of labour
m Specification of both material and labour
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193.  If cost control is neglected in construction management it will result in
(A)  profit to the owner of the project
(B)  increase in the profit margins to the contractor
W reduced profit margins to the contractor
(D)  no change in profit

sL_(Hwren Goarareioufler uamrss’ HUUT L @géReil L md Qg Hlapwn
A)  Gauewa 2 Menwimrermée @eomLib '

B)  @uuBsSSTIHESG @eTuid

©  @uubssMIHES BagLLD

D) @erusdéd wrHhpildame

194. Bar charts are suitable only for
Minor projects (B) Medium projects
(C)  Major projects ' : (D) Huge project's

U euenyuLLb @eumniln@ QurmhHEin
A)  Adw Lewfla(emé 3 B) sBHssT uenfla@héaE
©)  Quilw uefllsEpses D) WVsuQuAw uentlsenés

195. A Dummy activity ‘
| (A)  has no bearing on the network and can appear any where
(B)  has only head event but no tail event
(C)  has tail event but no head event
M neither requires any time nor any resources
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196. Match List I with List II and select correct answer :

List I List II
(a) Activity 1. Resourless element
(b) Event 2.  Resource consuming element
(¢)  Dummy 3. Spare time
(d) Float 4. Instantaneous stage

(a) (b) (© -~ (d)

A 1 4 3 2
(B).1 =2 1 4 3
<€ 2 4 1 3
@), 3 4 1 2
uiqwed I uiiguied IT 2 1er Qummg S sflwime fevL_amwis CoTpOsHEse D: <
uiguwied I uligquied 1T i
(a) Qeweum X DS DLOLIL
(b) Hawpey 2. <USMTLD 2 1 QETeT enoliL
(c) Qewepms) 3. 2 Lifl Griyd
d) Bseeu 4. 2 aig. Hlanew
(a) (b) (c) (d
A 2 4 3 2
B 2 1 4 3
2 4 1 3
®) 3 4 1 2

197. In time-cost optimization, using CPM method for network analysis, crashing of activities
along critical path is done starting with activity having '

(A) Longest duration (B) Highest cost slope
Least cost slope (D) Shortest duration

e wome Caume uguumield, CPM gu vweau(ss Qsweay-Corb 2-&LD STETLSDHG, PTITI
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198. The Petty Cash limit is not exceed to

(A)  Rs. 10,000 (B) Rs. 40,000
(©)  Rs. 1,00,000 N Rs. 50,000
feamyls uamgden eurbLy Qs @ s B mé&s Ceuetr(Hid

(A)  em. 10,000 (B)  5.40,000
(©) @ 1,00,000 (D)  .50,000

199. Cost slope is the ratio of
' (A)  increase in cost by increase in time
(B)  decrease in cost by increase in time
W increase in cost by decrease in time
(D)  decrease in cost by decrease in time

| Ggrens sfley eramg QeupmsHant G o drer el flgLb
A)  dsrevs siPsMiy wHmb sre < flafliy
B)  Ggrenas GerpLiL wHmID Sre < Slafliy
©€)  Gsrers sfafiy whmibd sre Geniy
D)  dsrens GeonLiy LHYLD sTe GaDLIL

200. Consider the following statements of network
1. Only one time estimate is required for each activity
2 Three time estimator for each activity
3.  Time and cost are both controlling factors
4 It is built-up event oriented diagram ,
Which of the above statements are correctly applicable to CPM network?
1and 3 (B) 1land?2 '
(C) 2and4 ' (D) 3and4
@ auma Gaumaufern &(psaem_ FaDOIE@ET HMHSS ) QaETaTs.
L gealearm swugisgn @Cr em apap L (b wHUISH Csma
2. gaGeaurm Asw@isEb apany wHLIOs6r Come
3.  Geaway wpmid Crrd Gream@ibd s HLILGHSSID sy ser
4. Qeweur® emibg euemruL TS 2 (heun&sUIUL (HaTerg)
Gupaearr_ecunild CPM @omgpé@ TG S DmEET SFflwimas QUMb
A  1wppb3 B) 1wpyw?2
©) 2wpmbd 4 (D) 3wpmw4
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Read the following instructions carefully before you begin to answer the questions.

10.
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12.
13.

14.

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 15 minutes before commencement of the examination.
This Question Booklet contains 200 questions. Prior to attempting to answer the candidates are requested
to check whether all the questions are there in series and ensure there are no blank pages in the question
booklet. In case any defect in the Question Paper is noticed it shall be reported to the Invigilator
within first 10 minutes and get it replaced with a complete Question Booklet. If any defect is
noticed in the Question Booklet after the commencement of examination it will not be replaced.
Answer all questions. All questions carry equal marks.
You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.
An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.
You will also encode your Question Booklet Number with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per commission’s notification.
Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for
each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.
In the Answer Sheet there are four circles @ ,®, © and (D against each question. To answer the
questions you are to mark with Blue or Black ink Ball point pen ONLY ONE circle of your choice for
each question. Select one response for each question in the Question Booklet and mark in the Answer
Sheet. If you mark more than one answer for one question, the answer will be treated as wrong. e.g. If
for any item, is the correct answer, you have to mark as follows : '

ON NON©) :
You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Question Booklet and the Answer Sheet out of the Examination Hall during the time of
examination. After the examination is concluded. you must hand over your Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with you only after the Examination is over.
The sheet before the last page of the Question Booklet can be used for Rough Work.
Do not tick-mark or mark the answers in the Question Booklet.
In all matters and in cases of doubt, the English version is final.
Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank. , '
Failure to comply with any of the above instructions will render you liable to such action or penalty as-
the Commission may decide at their discretion.
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